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Time: 2 Hours ] 

Wfll : 2 'El"& J 

[ Full Marks: 450 

[ 'l%t: 450 

Note: (i) Attempt as many questions as you can. Each question carries 3 (Three) 
marks. One mark will be deducted for each incorrect answer. Zero mark -will 
be awarded for each unattempted question. 

1. 

2. 

~ >I'Fit q;) "" 1IR'f "i!i1 wwr 'IR I ll"fIl<Ii l!'R 3 (l!\oI) 3i<fi "i!i1 1\ I ~ 
7fffir "ffff'( <Ii ~ T{'5 afq; "i!iTCT uU,)'1I Ill"fIl<Ii 31j'<1R" l!'R "i!i1 '"'<1i", 'Il"l N>rr I 

(ii) If more than one alternative answers seem to be approximate to the correct 
answer, choose the closest one. 

~ ~ ~",fl\q," i3ffi WI i3ffi <f> f.'rq;c l!<fu! tit, ill f.1,"c,," WI i3ffi i{ I 

The planet nearest to the Sun is ..................... 

(1) Mercury (2) Venus (3) Mars (4) Earth 

'l:l <f> 'ff<ffi '1", "l '" "" .. ,.,,'" on" " "" 1\ I 
(1) ~ (2) 'WI' (3) 'I'1Of (4) ~ 

The planet farthest from the Sun is ..................... 

(1) Saturn (2) Pluto (3) Neptune (4) Uranus 

'l:l -,'\ 'ff<ffi "" ~ "" """'''''''''''''' 1\ I 
(1) -m'r (2) ~ (3) 'I<"'T (4) 3R"'T 

3. The planet having the maximum number of satellites is .................... . 

(1) Jupiter (2) Neptune (3) Saturn (4) Uranus 

~ qjj ~ <fum 'lR'f1 "" """" "'''''''''' 1\ I 
(1) ~;; '" R1 (2) 'I<"'T (3) -m'r (4) 3R"'T 

4. Which one of the following planets has its period of rotation less than one day? 

(1) Mercury (2) Mars (3) Venus (4) Neptune 

f.1..,~ It", i't fi1m "" qjj "J:"R~ T{'5 ~ ~ 'Ii'/" 1\ ? 

(1) ~ (2) ~ (3) 'WI' (4) 'I<"'T 

( 1 ) P,T,Q, 
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5. Who among the following scholars was a supporter of monistic hypothesis of 
earth's origin? 

(1) T. C. Chamberlin (2) Russell. 

(3) James Jeans (4) Laplace 

f.'i''i r;, R"< t1 mRt it '!l'R 'j"ft q\j ~ <if OJ ~ t1 q 1 <i1 rnq RF.h<li"'<"l""""'1 <!iT 'IT<!<n 2!T ? 

(1) ito <l\o ~ .. ,r;,,, (2) "ffior 
(3) ~ u1Rf (4) ",,'01''11 

6. Which one was the earliest period of Paleozoic era? 

(1) Silurian 

(3) Cambrian 

(1) Ifi<:!R11" 

(3) <lIfT<11" 

(2) Permian 

(4) Carboniferous 

(2) ~ 

(4) <li1441cfi,'H 

7. Which geological period is known as 'age of human evolution' ? 

(1) Holocene 

(3) Pleistocene 

(2) Oligocene 

(4) Pliocene 

8. Which one of the following does not belong to the group? 

(1) Uniclinal valley (2) Fault line valley 

(3) Joint valley (4) Resequent valley 

f.'I"1 r;, R"<t1 it '!l'R ~ ~ ~ 'i!ff % ? 

(1) ~ <Ii R\ '" t1 "E!TiT (2) 1ffi too "E!TiT 

(3) "tfflr"E!TiT (4) "QI:!q<1i"E!TiT 

9. The average thickness of the earth's crust is .................... Km. 

~ q\j 3i'ffit1" ~ .................... M % I 
(1) 45 (2) 55 (3) 35 

(2 ) 

(4) 60 
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10. Whi~ one of the followtng is not a genetic class of river valleys? 
(1) Synclinal (2) Insequent 
(3) Consequent (4) Obsequent 

f.1 '" ~ Rlo d Tj q;R "'I'ft ~ iPT '" '1 f.1 '" <r'f 'f1ff ~ 7 

(1) 3lfiRf1r (2) "Ii"'1 q t\'i 

(3) 3lJ'!'I\ (4) """jqt\'i 

11. Which one of the following is not an erosional work ground water? 

(1) Solution (2) Hydraulic action 

(3) Abrasion (4) Condensation 

f.1 '" ~ Rlo d Tj q;R 'jjlrrtl """'" iPT 314 «:'11 i'1 '" ..,-m 'f1ff ~ ? 

(1) m<i11"""1 (2) ",,,,,,1l1 fsI;m 

(3) 3l4El~"' (4) ~ 

12. Which one of the following does not belong to the group? 

(1) River terraces (2) Flood plains 

(3) Water fall (4) Pot holes 

f.1 '" ~Rlod Tj q;R WjJ! 'it ~ 'f1ff ~ 7 

(1) "'I'ft ~~""~ (2) ""' iPT ilGR 
(3) """'" lmff (4) """'" 'lflf<m 

13. Natural levees are formed by .................... action. 

(1) Glacier (2) Wind (3) River (4) Ground water 

" 1 P Il1 '" d e.... .................... <f;..,-m &RT .....,-<i ~ I 

(1) ffi'1'1Gl (2) 1l'R (3) "'I'ft (4) 'jjlrrtl """'" 

14. Which one of the foHawing is an extrusive volcanic landform? 

(1) Laccolith (2) Ring dyke 

(3) Batholith (4) Crater and Caldera 

f.'I '" ~ Rlo d Tj q;R "" I '" I P:;l fsI;m &RT f.'tli\cr 'ffi<I ifl!I '" I P Il1 ~ ? 
(1) ~<t»~'l (2) ~ ~ 

(3) ~~ (4) ~ 1[1i <t>1i"il" 

( 3 ) P.T.O. 
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15. Which one of the following is not a type of earthqu~e waves? 

(1) Longitudinal (2) Surface (3) Transverse (4) Terminal 

"'P" F8 R; " -Ii ffi 't"'" 01 f.1" m <PI lri!iR 'flff i ? 

(1) ~ (2) ~<I"o11" (3) ~ (4) 3Rl'("l 

16. Lapies and Terra Rossa are landforms produced by .................... . 

(1) Volcanoes (2) Wind 

(3) Sea waves (4) Ground water 

MTo! aiR t<J -mn .................... Gffi ~ ,"lOlI'1'Ri j\' I 

(1) ""'OlI~<!i1 (2) 'l'I'1 

(3) "'ffi'R m (4) 'lflrm"O!<'f 
17. Which one of the following is the largest (Population) city of India? 

(1) Mumbai (2) Delhi (3) Kolkata (4) Chennai 

f.1 "1 F8 R;" -Ii ffi 'lR<I <PI '!l"f'l (01 '1'1i "" I) '1'N i ? 

(1) ~ (2) ~ (3) iJ>lOl"'I'" (4) ~ 

18. As per Human Development Index Report 2009, prepared by UNDP, India 
ranks .................... among 182 countries of the word. 

'/, 1/'1 <l\ 1ft q\T 'IT'11! ~ 'l:~"'i'" ~. 2009 <f; ~ ~ <f; 182 tm -Ii 'IffiI 
<PI .................... ~il 

(1) 92 (2) 132 (3) 134 (4) 102 

19. Narmada delta is an example of .................... . 

(1) Estuarine delta 

(3) Rectangular delta 

(2) Trun~ated delta 

(4) Birdfoot delta 

'1'IGr ~ .................... '!>T ~ dol$<'1 i I 

(1) """'1o~<!i1 ~ 
(3) 3111l",,,,,, ~ 

(2) ~''111!''< ~ 

(4) "011"''' ~ 

20. Which one of the following is not an erosional landform produced by river 
action? 
(1) River meanders (2) Ox-bow-lakes 

(3) Alluvial fans (4) Monadnocks 

( 4 ) 
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f.'I"1r;:,f{;tl eli q;;., ~ q;-fIl 6RT f.'rfl\o 314""""'''' ~pft'r 'fff % ? 

(1) ~ fllwt (2) ~ m 
(3) ~ W (4) '11el",el", 

21. Which one of the following is a depositional landform produced by ground 
water? 
(1) Natural tunnel (2) Swallow holes 
(3) Stalactite (4) Uvala 

f.'I "1 r;:, f{; tl eli q;;., 'If'r1i1 "lO! 6RT f.'rfl\o f.relqrf'[¢ ,," iii 1 'f RI % ? 

(1) III'fRl", W'T (2) ~'f fus; 

(3) "''''gtl'''1 (4) 'l"'iT<ilf 

22. Which one ,of the following is a coastal depositional landform ? 

(1) Tambalas (2) Stack 

(3) Sea arch (4) Sea caves 

f.'I "1 r;:, f{; tl eli q;;., ~ f.1~ 4 1 "'''' '" iii "1' RI % ? 

(1) tIJ"<iI~ (2) ~ 

(3) '(11"~'l ~ (4) '(11"~'l ~ 

23. Which one of the following does not belong to the group? 

(1) Inselberg (2) Zeugen 

(3) Demoiselles (4) Bajada 

f.'I "1 r;:, f{; tl eli q;;., "fill!' ~ ~ 'fff % ? 

(1) ~oiIiii.,r (2) ~'f 

(3) ~ (4) "'""" 

24. Which one of the following is a depositional landform produced by wind 
action? 

(1) Hamada (2) Stone lattice 

(3) Mushroom rock (4) Barkhans 

f.'I "1 r;:, f{; tl eli q;;., 'l'R 6RT AA<! f.1~ 4 1 "'''' '" iii 1 'f RI % ? 

(1) 1l1'IlGT (2) '" 1 011 G " fu<ilT 
(3) U?[<fi fu<ilT (4) ffilIFl 

( 5 ) P.T.O. 
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25. Select the odd item in the following group: 

(1) Kames (2) Moraines 

(3) Eskers (4) Roche Moutonee 

f.1"1~It.(1 Wjp if 'l'Ii'fd 11G q;J "fIR ~ : 

(1) q\lj (2) ~ 

(3) ~ (4) ~~ 

26. An inverted boatlike depositional landform in a glaciated region ~ C:.:;wn 
as .................... . 

(1) Hanging Valley (2) Drumlin 

(3) Nunatak (4) Craig and tail 

~",41'1'(1 aBr if ~ 'IT'l q\j <Rl; q\j f.\i\1q,,,,,,, """"'1'Ri ................... "+ 'IIlI il 
'O!T'ft <iffif\ t , 

(1) '" "",d) met 

(3) j'1I"'" 

(2) ",,~" 
(4) 'fr '{1i T" 

27. Which one of the following is not a process of chemical weacilti~ in a 
periglacial region? 

(1) Salification 

(3) Hydrolysis 

(1) ",,~fih~'H 

(3) ;;ro[ 3!'!'£fC'l 

(2) Hydration 

(4) Oxidation 

(2) t!'~~,,~ 

(4) 311<ffl1:!l,," 

28. Solifluction is a major process associated with .................... . 

(1) Wind action 

(3) Mass wasting 

(2) Volcanic erupti"" 

(4) River erosion 

",1~'1"'''H .................... il ~ 1«l> >r:J"I l!finm t, 
(1) 'l'A 'Wl 

(3) ~ Iff<UT 

( 6 ) 

(4) 'l1l\ 3I'1RG'! 
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29. The ear liest epoch of the Tertiary p~riod was .................... . 

(1) Pliocene (2) Palaeocene. 

(3) Oligocene (4) Eocene 

~ q;oq ifiT ~'I'! ~ 'IT .................... I 

(1) '<11"i~" (2) ~~",-ffi" 

(3) 3Il~',i-ffi" (4) ~"'Itil" 

30. Which one is the topmost layer in the hetero sphere? 

(1) Atomic hydrogen layer (2) Molecular nitrogen layer 

(3) Helium layer (4) Atomic oxygen layer 

fitlf'! lJU'iR'\ .~ ~ ~ "ff6 <ffR ~ 7 

(1) ,,'H'''''' ~ "ff6 (2) 311"lfil", "'~~'''''' "ff6 

(3) ~~"'1"ff6 (4) 311<R1l",'1 ~ "ff6 

31. Mesosphere lies between .................... . 

(1) Thennosphere and Exosphere 

(3) Troposphere and Thermosphere 

(2) Stratosphere and Thermosphere 

(4) Troposphere and Stratosphere 

'lUI lJU'iR'\ .................... of; ~ ij fW<! ~ I 

(1) ("1I4I1 U'5C'1 ~ ~ ~ (2) fJlidIQii 0 '5C"1 ~ flI4Ii U\l3i?! 

(3) qRqct"1li o;sC'l ~ dI4I1U:S61 (4) qRClct'iI1 U'5C'f ~ 'W1dI4'"lU'5C1 

32. Which one of the following is not a type of temperature inversion ? 

(1) Frontal inversion 

(3) Mechanical inversion 

(2) Advectional inversion 

(4) Latitudinal inversion 

(2) 3Ifi1q"41,, ,,1\1<'11'1'1 

(4) 31aimt<! ,,1\101''1'' 

33. How many high pressure belts are found on the globe? 

'<'!lif 'R """ q I gG Ii! q\j ~ Ii", '" I ~ qnjj ""IffiT ~ 7 

(1) 2 (2) 3 (3) 4 (4) 5 

(7) P.T.O 
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34. Which one of the following is not a law relating to wind direction? 

(1) Ferrel's law 

(3) Buys-Ballot law 

(1) 'lfu! <!iT ~<G h1 

(3) 0WUl m <!iT ~<GI'<1 

(2) James Bradley's law 

(4) Hadley's law 

(2) """ ~ <!iT ~ <G I '<1 

(4) ~ <!iT ~<GI'<1 

35. Low-TItian Green's Tetrahedral theory is associated with .... " .............. . 

(1) Origin of mountains 

(3) Origin of continents and oceans 

(2) Distribution of mountair 5 

(4) Origin of earthquakes 

~ 1lR -;;m ~ III q 11<\" "g"'"'' '" ~<G 1'<1 .................... '1"\ ~ ~ 
(1) q<fffi qj't ~ (2) q<fffi <!iT f'iI<Rul 

(3) "51o"141'1'i "51'<11'1,1 qj't ~ (4) 'l,'I"'I qj't ~ 

36. Which one of the following is a planetary wind? 

(1) Monsoon 

(3) Polar winds 

f.'1 "i r;, R"<t" -Ii qIR '!.'1 '" <41~ 'f'R t 7 

(1) 'lH"i" 

(3) ~ 'f'R 

(2) Chinook 

(4) Westerly jet streams 

(2) ~ 

(4) q~,,41 oR ~ 

37. The river valley to develop perpendicular to the general slope Of ~ :-eg1on is 
called .................... . 

(1) Obsequent (2) Insequent 

(3) Consequent (4) Subsequent 

ah! "* '<11'11 "1 ilTof "* '" ... q " ~ '" ~" oFt 'IR'i\ 'f'fi mit q;) . . .. .. .. . .. .. ... ... r , = 
tl 
(1) *'lljqeft (2) "",,"qeft 

(3) ~ (4) tR<rcfl 

( 8 ) 
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38. Line drawn over a map to join places having similar amount of rainfall is 

39. 

called .................... . 

(1) Isohyet 

(3) Isoneph 

(2) Isohaline 

(4) Isoehrone 

iH'!R q1ff ql\ 11BlT ~ ~ qit ~ ~ ~11 ~~ 'IX ~ 'I'ft mr qit ................... . 
<m<T "ll<!T 't I 

(1) 311~;ffii5"ic 

(3) 311,"1~4> 

(2) 311 • .",;<'11.1 

(4) 311.;ffi",11 

Roaring Forties are westerly winds generally blowing between 
latitudes. 

~ qr.j\ -q 1<41 til <ng'lll i<'I"rt! 6 'ill tll'lI"1 " .................... 31m <ff l1Ul ~ 6 I 
(1) 4()<>-50'N (2) 3Q<>-40'S (3) 40'-50'5 (4) 3()<>-40'N 

40. A twelve-sided figure representing wet-bulb temperature and relative humidity 
is known as .................... . 

(1) Climograph (2) Hythergraph 

(3) Ergograph (4) Band graph 

3lTl! ..... ",q~11 3i'R w)filrq;" 3lTlhrr ,. "m" ~ qr.j\ 12 "!J"!T ql\ ~ qit 
.•.....•...•.......• <ff "11'1 ,'t "lRT "ll<!T 't I 
(1) <1<'1,.",,,,4> (2) olI"''''4> 

(3) ~'~"'4> (4) ll:u<; m'!> 

41. World climatic regions based on the climatic needs of vegetation were put forth 
in 1900 by .................... . 

(1) G. T. Trewartha (2) Vladimir Koppen 

(3) C. W. Thornthwaite (4) L. D. Stamp 

'H~R1 ql\ ",,,,ql~~'" 3lIq,~",,,,W <ff 3!1UR 'IX 1900 >'i ~ <ff ",,,,qlg wtW qit 
.................... 6ffi ll'Wf fll><rr "'l'lT I 

(1) "Ofto ito ~ 

(3) ~o~~ 

(2) "" I .. l >j1 , <!i'\>R 

(4) ","0 <fto ~ 

( 9) P.T·O. 
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42. What percentage of earth's total volume arid weight is accounted for by the 
mantle? 

(1) 83 and 68 

(3) 73 and 68 

(1) 83'1'i 68 

(3) 73'1'i 68 

(2) 83 and 58 

(4) 80 and 70 

(2) 83 'I'i 58 

(4) 80'l'i70 

43. 'Ring of fire' is associated with the distribution of .................... . 

(2) Petroleum (1) Warm sea currents 

(3) Volcanoes (4) Global warming 

'3lfr.!-Q"nr .. " ... " .. " " " ". <I; fuRur ofr ~ ~ I 

(1) <]l\~ (2) q~)~,,~ 

(4) ~ i3"R 

44. Atlas in Africa is an example of .................... . 

(1) Mountain of accumulation (2) Folded mountain 

(3) Block mountain (4) Residua1.mountain 

~ it ftom ~ """."""",,." i!>f 1[1!> ~"Ii"O, ~ I 
(1 ) <i" g'1 \1 'l"<ffi (2) qfffi1 'l"<ffi 
(3) 00IT1P 'l"<ffi (4) ~ 'l"<ffi 

45. Lassen Peak volcano is located in .................... . 

(1) U. S. A. (2) Japan (3) Italy (4) Indonesia 

~ 1ftq; <i'''''' ~cl'l ."""". " " " "" it ftom ~ I 
(1) <'io <To ~ (2);;rr<lR (3) ~ 

46. River Ganga presents an example of ................. ". draina'ge pattern. 

(1) Rectangular (2) Trellised (3) Dendritic (4) Herring bone 

<Mr 'l'ft ."""""""".,, 3l<l'lT5 "R1 M i!>f ~"16' 0, lRWI <!R<f) ~ I 

(1) on<mr<f>N (2) ",,<A1j~' (3) 4'''4'''>1' (4) ~-.tR 

( 10) 



47. Mesopause is located in the atInosphere .................... . 
(1) Above Mesosphere (2) Below stratosphere 

(3) Below Mesosphere. (4) Above Thermosphere 
"'ge'",," "Ii ~"14'''' .................... ftem ~ I 
(1) _e''''," <i> '"'R 

(3) _e''''," <i> ~ 

(2) fi""'4"''''," <i> ~ 

(4) "'4"'''''" <i> '"'R 

48. Average slope of continental sunk slope is .. ", ................ . 
"1i5IGl cf1 q l'I'""l Gf(>f <nT ~ ~ .................... "5 I 

(1) 1()O (2) 15" (3) 5" (4) 2()O 

10P/20l'flI 

49. The type of rainfall occuring in India during the Monsoon period is .................... . 

(1) Convectional (2) Orographic 

(3) Cyclonic (4) Advectional 

'1ffi"! "Ii ",., "J:1 3l<I1i:r "Ii N'r "i'iTO!\ <!'If .................... lfiPN q\') ~ I 

(1) fi.6"~~ (2) ~ 

50. Which one of the following rivers does not originate from Tibet? 

(1) Sutlej (2) Jhelum (3) Indus (4) Brahmaputra 

f.'I"1 ~ R;" ~ "Ii '*"' ~ -,l; wff ~ 'l',"d1 ~ 7 

(1) fi","'" (2) ~ (3) ftr-<r 

51. Which one of the following pairs (local wind - region) is not properly matched? 

(1) Khamsin - Iraq and Syria (2) Blizzard - Canada 

(3) Mistral- Spain (4) Fohn - Middle Europe 

~"1~R;" "Ii '*"' "T'I (,,",,;fj~ qq.r-~) 1l~~" wff ~ 7 

(1) .. ,"Rl., -~ 1I'i <l\furr (2) ~",t - <!RT"6T 

(3) ~ - "N-1 (4) q;'f'f - _ >&l 

52. Which one of the following pair (climate - country) is not properly matched? 

(1) Humid tropical - Brazil (2) Monsoon - Thailand 

(3) Mediterranean - Morocco (4) Temperate marine - Turkey 

(11) P.T.O. 
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~"1R1rt.tI -It qiR "W'I ("''''"'S - ~) ~~R1t1 'flff 'f; ? 

(1) i3"'mf -~ (2) "1'1"i'1~ -~ 

53. New England industrial region is located in .................... . 

(1) United Kingdom (2) Canada 

(3) U. S. A. 

'" ~'01o" on,"l~'" mr ................... . 
(1) """e" [$'1"" 
(3) <io <To ~ 

(4) Australia 

-It fto.rff 'f; I 

(2) <!>'1"RlT 

(4) 3l1fs)R1'l1 

54. How many major agro-ecological regions and subregions have been delineated 
in India by the Soil and. Land Use Survey Organisation (Nagpur) ? 

(1) 25 and 65 (2) 21 and 60 

(3) 23 and 57 (4) 16 and 55 

'2GT '<'i 'lfii ~. ~aJUf ~ ~) -It 'lffi\ -It '!l"'" f.I;"t-R ~ <pN.~ 
~ '<'i "q" ~. n "iffi" ffI '1 i "''1 llPm 'f; ? 

(1) 25 '<'i 65 (2) 21 '<'i 60 

(3) 23 '<'i 57 (4) 16 '<'i 55 

55. Who was the last scholar of the ancient Greek-Roman School? 

(1) Herodotus (2) Plato (3) Ptolemy (4) Aristotle 

~ 'flT'lt. x'r! ;e '>< " I 'l "iffi" 3fTftRT flll;R qiR 'IT ? 

(1) fl)"",k;e (2) ~ (3) ~ (4) 3Nf<!, 

56. Who is called the 'Father 01 Geography' ? 

(1) Eratosthenes (2) Arya Bhatt (3) Strabo (4) Pythagoras 

''fI'r<'i "iffi" URili' f<Rl 'I'l'T "ITtIT 'f; ? 

(1) ~.j't(ij (2) arr<\ "" (3) ~ (4) 'm"'lT'ITffi 

57. The world's tallest building is .................... . 

(1) Taipei 101 (Taipei) 

(3) Burj Khalila (Dubai) 

(2) Petronas Towers (Kuala Lumpur) 

(4) Sears Towers (Chicago) 

( 12 ) 
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fltfq~~~~ .................... ~1 

(1) ~ 101 (~) 

(3) ~ ",o\1Q;1 (¢) 

(2) q~~'11'H em! \<!;01li'1li'1'1!l") 

(4) ~ em! (fu<Wi\) 

58. In which Caribean country a massive earthquake occurred in January, 2010? 

(1) Jamaica (2) Dominican Republic 

(3) Cuba (4) Haiti 

~ ,M1flil1'1 ~ it~, 2010 it ~ ~ 'fl""! 3!T1lT 'IT ? 
(1) ~ (2) ",ifi1f.w,'1 R'lf''<ii1l> 

(3) 'fll,'IT (4) ~ 

59. Which one of the following pairs (epithet ~ country) is not properly matched? 

(1) . Land of morning calm - Korea (2) Land of midnight sun - Sweden 

(3) Land of thousand lakes - Finland (4) Land of golden fleece - Australia 

f.'i"1f.1lt." it 'IiR 'l'" (111<1,'" - ~) 'tl~f.I" ryifI' ~ 7 

(1) >ITff:~ ~ iI>T ~ - 'liIfurr (2) ~ <i> 'l,'i iI>T ~ - ~ 

60. Southern Rhodesia is now known as ................. ," . 

(1) Namibia (2) Surinam (3) Zimbabwe (4) Lesotho 

~ <lil~'111 0<f'lR it .................... 'fTl'[ <'t UlRT 'GlTiiT ~ 1 

(1) '1 1!j1 flil1 I (2) 'tl~'1I'1 (3) ru.""Ji (4) ~ 

61. Which one of the following iron and steel plants is located in Chhatisgarh ? 

(1) Bhilai (2) Durgapur (3) Bokaro (4) Rourkela 

f.'i "1 f.I It." it 'IiR <Ito 1f'i ~ '" 1m I '11 ,,'<\1 fi ' ," it h<m ~ 7 

(1) ~ (2) ~ (3) ~ (4) ""'¢i'li 

62. Tehri Dam is located in the State of ... , ................ . 

(1) Ullaranchal 

(3) Ullarakhand 

~ oi'f'l ...... , .......... , .. xr<>'1! it h<m ~ 1 

(1), 6t1xj-qi'l 

(3) 6'<",,,,,,,, 

(2) Ullar Pradesh 

(4) Himachal Pradesh 

(2) "'" ru 
(4) 16'1I-qi'l ru 

( 13 ) PTO. 
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63. In which State the Nagarjun Sagar Project is located? 

(1) Karnataka (2) Andhra Pradesh 

(3) Maharashtra (4) Tamilnadu 

11'"'!!1 m'R q~li~"'"1 ~ '1fO'l <'f fum t 7 

(1) ","k", (2) 3lRT m 
(3) ~ (4) t1f/10111'!l 

64. Constantinople is known as .................... . 

(1) Khartoum (2) Kinshasa (3) Harare 

'll '\11 \If/! <11 "1f<f>lR <'f .................... * 'IJll ~ ;;[f1T <iffi!T t I 
(1) "'''1'' (2) fl);"'<11 (3) ~ 

65. ' The national capital of Brazil is .................... . 

(1) Sao Paulo (2) Brasilia 

(3) Rio de Janeiro 

~q\j~~ .................... tl 
(1) <mit <IToil 
(3) fi<i\ ~ ~ 

(4) Recife 

(2) • 1U1'Ifi1 <1 I 

(4) ~ 

(4) Istanbul 

(4) ~ffi,,!01 

66. Which one of the following pairs (industry - centre) is not properly matched? 

(1) Copper - Khetri (2) Cement - Gorakhpur 

(3) Alluminium - Korba (4) Paper - Hoshangabad 

fII"1fi1R.t1 <'f "<t>R 'J"l (~ - <IR;) '[j~fi1t1 ~ t ? 

(1) m.r - ~ (2) ~ - ,~"",g< 

67. Which one of the following pairs (minerals - district) is not properly matched? 

(1) Manganese - Balaghat 

(3) Bauxite - Sonbhadra 

(2) Coal - Dhanbad 

(4) Iron ore - Singh Bhumi 

fII"1fi1R.t1 <'f "<t>R 'J"l ~ - iOf1'1G) '[j~fi1t1 ~ t 7 

(1) ~',41", - .'01IQlc (2) ~ - ~ 

(3) ., q'/lI~ c -~ (4) oi\5 3flff<li - fW 'lfl\ 

( 14 ) 
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68. Mesopotamia is now known as .................... . 

(1) Iran (2) Morocco (3) Iraq (4) Maurutania 

~"'14ic, fiI "' ~ -It .................... <f; 'WI ~ ii!T'!T ;;;mIT 't , 
(1) ~ (3) ~ (4) Ij'j"" ,f.l11 , 

69. The world's largest producer of Cotton Textiles is .................... . 

(1) China (2) Brazil (3) India (4) Egypt 

'l!ft "i'fa il>T f1tvq il>T '!llWl ,3('1'" '" .................... 't , 
(1) o;fR (2) ~ (3) 'lffi"f (4) fi'm 

70. Who is the author of ERDKUNDE ? 

(1) Humboldt (2) Karl Ritter (3) Heitner (4) Ratzel 

'",g",og' il>T ~ <!lR 't 7 
o 

(1) ,5',,1"'1" (2) 'l>fOi ~ (3) k"R (4) ~ 

71. Which one of the following pairs (river ~ city) is not properly matched? 

(1) Tigris-Euphrates - Baghdad (2) Congo - Lagos 

(3) Nile - Khartoum (4) Mekong - Ho Chi Minh city 

f.l"i~Ito" -It <!lR ~ ('1'ft - 'l'R) '\l~~" "ffff't? 
(1) ~-""'" - ~ (2) '<!ii>i\ -~ 
(3) ~ - "'''1'1 (4) ~ - 1i\ -.j) >1M; ftri\ 

72. Which one of the following pairs (river - city) is not properly matched? 

(1) Sabarmati - Ahmedabad (2) Narmada - Hoshangabad 

(3) Brahmaputra - Guwahati (4) Ghaghara - Lucknow 

f.l"i~Ito" -It <!lR ~ ('1'ft - 'l'R) '\l~~" "ffff't 7 
(1) fll~\Pid'i - 3h5J1GItf.JI& (2) ~ - i1~illlEJ;IG 

(4) mem - "''''''''' 

73. Where is the National Remote Sensing Agency located? 

. (1) Dehradun (2) Bangalore (3) Hyderabad (4) Ahmedabad 

(2) ~ (3) ~"".,,, 
( 15 ) 

(4) "'511",.,<; 

P.T.D. 
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74. Who among the followi~g scholars is called the 'Father of Human Geography? 

(1) F. Ratzel (2) V. de La Blache 

(3) J. Brunhes (4) E. Huntington 

f.'I "1 foIltH1 f<\&Rt l'f fll><'t ''lRlf ~ Oil i>R<!i' <!iID umrr ~ 7 

(1) '<'lio ~ (2) <fto ;;j't Off '<'1m 

(3) uTo tu (4) ~o Eif?;'I"" 

75. Who among the following scholars was the supporter of 'Possibilism' ? 

(1) E. C. Semple (2) L. Febre (3) Aristotle (4) F. Ratzel 
f.'I "1 foIltl <1 f<\&Rt l'f q;;..,. ~. Oil 'l'r<fq; 'IT 7 

(1) ~o ~o ~ (2) 1fOf0 ~ (3) 3fffi), (4) '<'liD ~ 

76. Name the tribe whose main e~onomic activity is pastoralism. 

(1) The Jaunsaries (2) The Todas (3) The Khasis (4) The Tharus 

","""fII Oil '1Jl! ~ R\l",<6) ~ ~ ',fII~r;:, q'J~'"' ~ I 
(1) 61I"",,~ (2) 00 (3) ~ (4) 'ffii 

77. Indira Sagar Dam is located in .................... . 

(1) Madhya Pradesh (2) Maharashlra 

(3) Rajasthan (4) Gujarat 

~ "'HJlR .w .................... l'f ft<m ~ I 

(1) lJ"'l ~ (2) """''\; 

(3)~ (4) :1"''''' 
78. The country having the largest Petroleum reserve in the world is .................... . 

(1) Iraq (2) U. S. A. (3) Irah (4) Saudi Arabia 

q~Yfol'l" qlj fimr l'f ~ ~ Xlfu 'ffi'!T ~ .................... ~ I 

(1) ~ (2) 'fio """ ;w1fum (3) ~ (4) ~ '*" 
79. The State having the second highest level of urbanisation and the literacy rate in 

India is .................... . 

(1) Goa (2) Nagaland (3) Mizoram (4) Tamilnadu 

'1 ' I ~." "I <m "ffi'[ aIR ~ Gi[ l'f 'lffil l'f f6<\m '('IT'f 'ffi'!T """ .................... ~ I 

(1) 1Jlqj (2) 'll'"~"''' (3) 1lI"'1'" (4) <11l1",,,,'g 

( 16 ) 
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80. \,Vhich one bf the following pairs (concept - supporter) is not properly matched.? 

(1) Determinism - F. Ratzel 

(2) Stop-and-go determinism - G. Taylor 

(3) Possibilism - J. Brunhes 

(4) Probabilism - L. D. Stamp 

PI"1~Rilti >'i 'IiR "T'I (>Ii"'''''" 1 - WRfq;-) '\l~~ti 'if!ff t; 7 

(1) PI"llIoiG - '1'1'0 ~ 

(2) "'Oi!it~-unoIT PI" III 0 IG - i:i\io ~ 
(3) ~ --0)0 ~ 

(4) ~ - "f<'!o <fto ~ 

81. Which one of the following pairs (shifting cultivations - country) is not properly 
matched? 

(1) Ladang - Indonesia (2) Chena - Sri Lanka 

(3) Jhuming - N. E. India (4) Milpa - Bangladesh 

PI"1~Rilti >'i 'IiR "T'I ~1'1iti,",~", <pft - ~) '\l~~ti 'if!ff t; 7 

(I) ~ - ,"",~~~,,,, (2) <RT - ~ 
(3) ~ - ,,0 ~o '1ffiI 

82. The country having the largest reserve in the world of high grade Coal 
is .................... . 

(1) U. S. A. (2) China (3) India (4) South Africa 

f<Wl >'i '3'"'l if>ifu ~ ~ ql) 'JRf'! ~ "<Tfu 'IT01T ~ .................... t; I 

(1) "<io <T"'I ~ (2) ~ (3) '1ffiI (4) <:feluT 3!l!IWr 

83. The largest producer of Bauxite in the world is .................... . 

(1) India' (2) Surinam (3) Australia (4) Zimbabwe 

f<Wl >'i ., O'tll, C 'ffI 'JRf'! ,,«11 G '" .................... t; I 

(1) '1ffiI (2) '\l~'1le (3) 3l1~~'" (4) ftI""ii) 

84. The largest city of the world, in terms of population, is .................... . 

(1) Tokyo (2) Mumbai (3) Mexico City (4) Lagos 

'" '1 'Ii M I ~ {R'I\ >'i f<Wl 'ffI 'JRf'! "f'T'{ .................... t; I 

(1) c'lfl1l,,~ (2) ~ (3) ~Fffi",~ ~. (4) <'IT'lffi 

( 17) PT.O. 
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85. The States having the highest rate of population growth (1991-2001) and the 
highest per centage of scheduled tribe population are .................... respectively .. 

(1) Manipur and Mizoram (2) Sikkim and Meghalaya 

(3) Nagaland and Mizoram (4) Nagaland and Jharkhand 

~ ",.,';&11 ~ "' (1991-2001) afR 31:l~" ",,,,,,,Ri ql) ",.,.1'&11 <liT 'If<i\'ffi:! 
"Ri.,,, OTR '"'" JP'm: .................... t I 

(1) ~ '<'i i>I",j," (2) Ril#" '<'i ~~I"" 

(3) """~'" '<'i i>I",j,,, (4) """~'" '<'i $lIm'" 

86. Which one of the following does not belong to the group? 
(1) Graduated Circle (2) Coloured glasses 

(3) Prism (4) Trough compass 
Pi...,R:iRil" l'f q;'R W!" "fl ~ 'Iff ~ ? 

(1) ~1! 'l'1 (2) ~ "lfM 
(3) flto>! (4) ];'l> 'I>"lffi 

87. Which one of the following is not included in the process of setting of 
Theodolite? 

(1) Centering (2) Levelling 

(3) Measuring horizontal angles (4) Zero setting 

Pi..., R:i RiI" l'f fil;"fl f'l41:sj" I ~ " <f; ~ ql) llflI>llT l'f '" fl>i R:i" 'Iff f1n<IT umrr ~ ? 

(1) ,;<f;.,;', 
(2) '""""" 

(3) ~ q;)uif <liT lJ11R (4) "r" ~ 

88. Find out the odd item in the following group: 

(1) Mechanical method (2) Triangle of error method 

(3) Graphical method (4) Rise and fall method 

f.'!...,R:iRil" W!" l'f ""'/d 11G ,,~ : 
(1) ~ fill'! (2) ~ ~'" fill'! 
(3) ~ fill'! (4) ''<<IT'l '<'i 'I<R fill'! 

89. A minimum of how many satellites are needed to receive reliable ,data by GPS? 

<A1<i1Q," "fl lil,q'<1"lll ~ llT'<I m <f; ~ il>ll "l't il>ll fll><r;'\ "(jljJ!;;) .ql) 31lq,~",,,, 
NtH? 
(1) 4 (2) 5 (3) 2 

( 18 ) 
(4) 3 
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90. In whlch State of India the percentage of agricultural labourers to total workers 
is the highest? 
(1) Bihar (2) Orissa 
(3) Andhra Pradesh (4) Chhattisgarh 

'1Tffi if; f<lm """ -Ii '!l"f q;fi\lif -Ii ~RI., ~ q;r ~ RI.,,, ~ ~ 7 

(1) ~ (2) ~ 

(3) 3!R[ m 
91. The boundary line drawn between India and Pakistan is .................... . 

(1) Siegfried line 

(3) Me Mohan line 

(2) Durand line 

(4) Redcliffe line 

'1Tffi aiR q 1 f1l>'R11 " if; <\Til ~ lT1fi 'IfIllr ~ .................... ~ I 
(1) 1fl'lo\1" ~ (2) ~ ~ 

(3) % m ~ (4) ~"f#I", ~ 

92. Which one of the follOwing pairs (State - date of formation) is not properly 
matched? 

(1) Haryana - 29 Jan., 1970 

(3) Jharkhand - 01 Nov., 2000 

(2) Mizoram - 20 Feb., 1987 

(4) Cujarat - 01 May, 1960 

f.'1 '" fl:1lt", -Ii 1fii'1 ~ «T"'1 - f.'rltoT qft ft'if'r) 1l~ fl:1 " 'fiff ~ 7 

(1) .~""" - 29 ~. 1970 (2) flIof1," - 20 ~. 1987 

(3) ,"I"""" - 01 ~. 2000 (4) 1"1<1" - 01 ~. 1960 

93. When the first population census was conducted in India? 

11'T«f "B >fQll1, lJ1'1 l I0 1"11 ~ ~ <r<fr ? 

(1) 1885. (2) 1901 

94. Where is Kalahari desert ? 
(1) West Asia 
(3) Western Australia 

'" "'1I.I~ . ~ <!>lIT ~ 7 

(3) 1872 (4) 1891 

(2) South-West Africa 
(4) West Africa 

(1) ~ ~ (2) GfMur-~:mt\"<!>T 

(3) q~wj1 ",'~fl:1", (4) ~ :mt\"<!>T 

( 19) P.T.O. 
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95. Which one of the following is not a spatial factor of a State? 
(1) Location (2) Shape (3) Size (4) Boundary 

f.'I"1 ~ it. (I >'I' qj'R ~ <PI ~ <IiRi!> 'ffff ~ ? 

(1) 31" fWIr (2) 3lTij>f'Ir (3) 3lT<liR (4) "ffi'lT 

96. Global strategic view (model) was first put forth by .................... . 

(1) A. T. Mohan (2) A. D. Seversky 

(3) S. B. Cohen (4) N. j. Spykman 

<"\ftr<!> ~elG1., qIW~' ~) 'lit ~ .................... Gffi ~ f<n<rr If'lT I 

(1) 1(0 ito >lflR (2) '10 ;;lIo -iI~%1 

(3) 1«fo -.!to ~ (4) \flo ~o f'l1."~'1 

97. Which one of the following pairs (country - capital) is not correctly matched? 

(1) Brazil- Brasilia (2) Algeria - Algiers 

(3) Morocco - Marrakech 

(1) iITifu;f - .1<A1~", 

(3) '1l''''''1 - ",,<I;., 

(4) Tunisia - Tunis 

(2) 3l"",~R", - 3l"",~,,<l 

(4) «11~F!I'" - <;'!0<1 

98. Which one of the following is not a model of urban structure and structural 
growth ? 

(1) Concentric zone theory 

(3) Sector theory 

(2) Nested hierarchy theory 

(4) Multiple nuclei theory 

f.'I "1 ~ it. (I >'I' qj'R 'l"'Rm {j"H I 3lR {j, ~ '11 <'I" fll<l;rn <PI ~ 'ffff ~ ? 

(1) {j'li<jft" ~ ~<lI't1 (2) <1'1I~'I\1 Qill:!"''1 ~<lI't1 

(3) "";;l1,, ~<lI't1 (4) '§'!Tfi1<n ~'t1" 

99. Which one of the following does not belong to the group? 

(1) Ninety Eastridge (2) Wharton basin 

(3) Clarion fracture zone (4) Carlsberg ridge 

f.'I"1 ~ it. t1 >'I' qj'R 'fill!' ~ ~ 'ffff t ? 

(1) ~ ~ ~''''t1' '!>C<!> (2) ~ ~ 
(3) ~R,,'1 1M liB! (4) "ilRl,'1 '!>C<!> 

(20 ) 
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100. For the Middle East and S. E. Asia the term 'Shalter belts' was used by 
.................... in 1973. 

(1) G. B. Cressey 

(3) D. W. Meining 

(2) L. D. Stamp 

(4) S. B. Cohen 

l1"I 'l,'f ~ GO '!,o ~ <f; ~ 1973 l'j .~ ~ 'IT'G <!>T m .................... &Nl 
fil>m 7fll( I 

(1) "Ofto ;fio ~ 

(3) "tIo ~o 4tf'i'l 

(2) ","0 "tIo ~ 

(4) \RIo;fio ~ 

101. Shivasamundram (Karnataka) and Kalpakkam (Tamilnadu) are important for 
.................... respectively. 

(1) Hydel power and Nuclear energy (2) Thermal and Nuclear energy 

(3) Nuclear energy and Hydel power (4) Solar power and Nuclear energy 

~ I q '" 1" 'I (<!Hk if» ~ if> '" q %" (tI1i'I "''' I s) ll>'m: ..... .. ... .. .. .. .. .. <f; ~ ~ g I 

(1) ",,,,,,fiffi ~ ~ ~ 

(3) ~ ~ ~ ",,,,,,fiffi 

(2) "ffiTl ~ ~ ~ 

(4) "flR m;m ~ ~ ~ 

102. In which year the capital of India was shifted from Kolkata to New Delhi ? 

fllRI if'! l'j 'lffiI q\j ~ if» '" if> I til <'l ~ ~ "" '" i tI Rtl q\j '1'1't ? 

(1) 1906 (2) 1920 (3) 1910 (4) 1911 

103. Among the following scholars who was the supporter of principle of profit 
maximisation in the location of industries? 

(1) Alfred Weber 

(3) Greenhut 

(2) E. M. Hoover 

(4) T. Palander 

~ ",~R. tI ~ l'j q\j'j ~ <f; <<'IT'! f.'lmxur l'j ~ <Wf <f; Rl", I '<1 <!>T ~ 
OlT? 

(1) ~ <lor< (2) .0 1I'l0 1l,'R 

(3) "llR6c (4) <!to ~<il',,, 

( 21 ) P.T.O. 
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104. Which one among the following is not a method for identifying the degree of 
concentration of industries? 

(1) Localisation curve 

(3) Location quotient 

(1) ~"'" 

(3) ""41",,,,0, ~ 

(2) Localisation coefficient 

(4) Coefficient of specialisation 

(2) '" 141 "",,01 :J"lii!> 
(4) ~ .)<i'! "', 01 <!>T :J"lii!> 

105. Which one of the following is not a fundamental function of biosp~ere ? 

(1) Deformation (2) Absorption (3) Differentiation (4) Reproduction 

f.1 kj ~ Itt (1 l'i qj'R ul1"" 0""" <!>T ~ ..,-,<! '11ff t 7 

(1) ~'(iiq01 (2) ",j.ft""ol (3) flNG'! (4) ll'if'R 

106. Which one of the following is not a type of ecosystem stability ? 

(1) Constant stability 

(3) Inverse stability 

(1) """ ft«,(11 

(3) "RI.n<ll ftomrr 

(2) Elastic stability 

(4) Cyclical stability 

(2) .n"''l,''l ftomrr 

(4) mt\>l ftomrr 

107. Approximately what percentage of world's total population and total resource 
consumption is accounted for by the developing countries? . 

(1) 70 & 30 (2) 60 & 40 (3) 90 & 10 • (4) 80&20 

~ q\T ""'" '" "'Ii",, 1 3l'r<: '!jOf ~ ~ ~ Wf'r'T flmr'\ "R\'" (1 ~ ~ 
~ '" 1 fI.ft '" ~ dtl' '" >l1 ~ 7 
(1) 70 -qq' 30 (2) 60 -qq' 40 (3) 90 -qq' 10 (4) 80 -qq' 20 

108. Capeyark peninsula in Australia is important for .................... reserve. 

(1) Gold (2) Bauxite (3) Iron ore (4) M""ganese 

"' 1 '1l ~ '" <!>T <I; q " 1 ql ",,,;fI q .... on ............. q\T ~ f.'!ii< ~ ~ ""til 'i~\ t I 

(1) ~ (2) .1"""~" (3) oi't;; 3l"lR<fi (4) ~',41", 

(22 ) 



109. 'SELV AS' in Brazil is .................... . 

(1) Hi!;h mountain pastures 

(3) Dense equatorial forests 

~ 1'( ftom~· .................... tl 

(1) '3"l ~ """116 

(2) Subtropical grasslands 

(4) Coffee producing areas 

(2) ~"E!ffi qn i'IGR 

(4) <m.«lT ~ «11 G '" mor 
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110. Which one of the following is a calculated measure of central tendency of a 
frequency distribution? 

(1) Mode (2) Mean (3) Median (4) Midpoint 

f.'I"1 I« r<;, tI i't 'IlF! • "-'II' til m <tr ~ ~ qn q R '" I« tI 'l11l t 7 

(1) "S"'" (2) 'llU! (3) "ITfW<m (4) 11Uliq; 

111. The concept of growth pole was for the first time put forth in geographical space 
by .................... . 

(1) j. R. Boudville (2) D. F. Darvent 

(3) A. R. Kuklinski (4) j. R. Lasuen 

f'it<t>R! W <tr 'Ii "".«.,I <!it 4\'111«", wrn " ~ 1'( "fl'fl!'l'l .................... ~ ll'Wf 
~I 

(1) ~o 3lRo iIl",fil<'l (2) ;;fro 1I'l'0 ;;nk 

(3) 'lo 3lRo '!jfil<'l«t\1 

112. 1;Vho defined geographical as 'accurate, orderly and rational description and 
interpretation of the variable character of the surface of the earth? 

(1) Carl Sauer 

(3) R. E. Dickinson 

(1) <t>TOf WR 

(3) 3lRo ~o R:~"., 

(2) A. Hettner 

(4) R. Hartshorne 

(2) 'lo k'R 

(4) 3lRo 61eon4 
(23 ) P.T.O. 



10P120712 

113. Who among the following does not belong to the group? 

(1) Spearman 

(3) Abraham de MoiVTe 

f.'I "1 ~ [l; tI 1\' "1!fR 'ffIl!' <l ~ ~ 't 7 

(2) M. G. Kendall 

(4) Karl Pearson 

(1) ~'H~'1 (2) 'l'!o ul'to ~"''''''' 

(3) 3IlTTO'! <IT ><IW; (4) ~ qj 'H" '1 

114. In Andes mountains the uppermost zone is called ................... . 

(1) Tierra Helada 

(3) Tierra Fria 

(2) Tierra Caliente 

(4) Tierra Templada 

~ <M! <i> 'H'ffr ~ fi<m 1fO'5C'! <nT ..........•......... q;o] = 't I 
(1) TI"R el?r (2) i3"'T el?r 

(3) 'Ifur el?r (4) ~tI~"" el?r 

115. The Rimland concept is associated with .................... . 

(1) Cohen 

(3) Spykman 

(2) Fairgrieve 

(4) Seversky 

i3'!RI el?r <Cr <i '" "" '11 .................... <l "''' f.~ltI 't I 

(1) ~ (2) tt'wflq 

(3) ""~"'~'1 (4) ~~~ 

116. Which country in South America is world famous for livestock ranching? 

(1) Brazil (2) Argentina 

(3) Colombia (4) Venezuela 

G"fflM\ ~ 1\' "1!fR -a:w 4'tl"""1 <i> ~ ~ ~ 't 7 

(1) ~ (2) 3lJl",,~'11 

(3) ",~",fl<o", (4) ~~'1~"" 

(24 ) 
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117. Which one of the following pairs (strait - countries) is not properly matched? 

(1) Palk strait - India and Sri Lanka 

(2) Luzon strait - Taiwan and Philippines 

(3) Hormuz strait - Iraq and Iran 

(4) Bering strait - Russia and U.S.A. 

f.r"1~~t1 -I( <WI "T'l (",,,,;geM'4 - ~) t!~~t1 '!"iff jj ? 

(1) '!TiP """'~ - 'lffiI '01" ~ 

(3) * ",,,,;geMUl - """ '01" {<R 

(4) ~ ",,,,;ge,,eUl - _ '01" ~o <TV'! ~ 

118. Which one of the following does not belong to the group? 

(1) Turkey (2) Mexico 

(3) Egypt (4) Russia 

f.'I"1~~t1 -I( ·ilfR Wl!1 "ft ~ '!"iff jj ? 

(1) ll<!IT (2) ~Fffi,"l 

(3) fIrn" (4) _ 

119. Organization for Economic Cooperation and Development (DEeD) was 
established in the year ..................... . 

anfO!q;- <16 ti) " '01" f.tq;m WT"a""'! (3Mf1~ il1) q\t "f'.ll'AT <r<! .................... -I( q\t 'l<fT I 

(1) 1980 (2) 1966 (3) 1991 (4) 1961 

120. Among the European colonizers who occupied Brazil ? 

(1) The Portugese (2) The British 

(3) The Spainiards (4) The Dutch 

,{0>11 .. ~qf.'l~","1 -I( flRR ~ 'R ~ ~ flnm ? 

(1) gd'IIo1) (2) llieeq,<i1 

(3) ~eq,<i1 (4) 6,~";gq'f1l 

(H) P~O. 
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121. According to 1999-2000 data which State of the country had the lowest per­
centage of population below poverty line? 

(1) Punjab (2) Haryana 

(3) Jammu & Kashmir (4) Himachal Pradesh 

~ 1999-2000 <i; ~ <i; 3!:J'!R ~ <i; ~ ~ -il <rM't q\'t WI <i;. ~il q\'t 
\Jl '1fi't?ll I em !>lRt~I(1 m q>ll ~.? 

(1) tiunoT (2) ;;R""II 

(3) "I"i 3i'R ~ (4) ~"'i"'" ~ 

122. The gradual change in the manner of population growth occuring ov:er a long 
period of time is known as .................... . 

(1) Population explosion (2) Demographic transition 

(3) Demographic dynamics (4) Fertility transition 

Vi 1';"" , <Jf.li <i; ~ -il 1f'V <ft£\ ,," '" '" Ii'r -il ~ ~ q R" a1 
<Ii5T umn t I 
(1) Vi 1';<91 , f<l""~e 

(3) Vi 1 if4>i!ll" ' , ttl, i'1 """ 

123. N arne the scholar who said 'Resources are not they become. 

(1) E. A. Ackerman 

(3) J. W. Alexander 

(2) C. F. Jones 

(4) E. W. Zimmerman 

~ 'fiT 'IT'! iI<ITif'i ftRR <Ii5T ~ Nil ;ffif iR<l t I 

(1) .0 110 "'''''~1 (2) ~o 11'!'0 ~ 

qit ................... . 

124. Who defined human geography as the 'study of changing relationship between 
the unresting man and the unstable earth? 

(1) Vidal de La Blache 

(3) F. Ratzel 

(26 ) 

(2) E. Huntington 

(4) E. C. Semple 



(1) 'II, "",, ;;ft orr '<'1m 

(3) 'I'l'o ~ 

(2) ,,0 ~~'c" 
(4) ,,0 <fio ~ 

125. The deepest portions of sea are found in ........... ,' ....... ocean. 

(1) Indian (2) Atlantic (3) Pacific (4) Arctic 

~ (ill<R) <i; wrn m 'IT'T .................... '151<11' " it qri) om! ~ I 
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(1) 1'0; (2) 3lc",i~", (3) lmRI (4) 3l1$~", 

126. The time difference between tides at any particular place near the equator 
IS .................... . 

(1) 12 hours 

(3) 24 hours 

(1) 12 tier 

(3) 24 tier 

(2) 12 hours and 26 minutes 

(4) 24 hours and 52 minutes 

(2) 12 tier 1{ii 26 fi'Ac 

(4) 24 tier 1{ii 52 fi'Ac 

127. Which one of the following concept is not related to Mackinder ? 

(1) The Heartland (2) The Midland basin 

(3) The Geographic pivot (4) The Airpower model 

f.1 "i R11t. " it qIA 'Ii", <'G '" ~ I¢ 0,,, >it <1 ... ~ " on')' ~ 1 

(1) l>'<l/-X"1I"<"I (2) ~ ~ 

(3) >n.nR1", ~ (4) illgg.ft".,flttI ~ 

128. Select the odd item in the following group: 

(1) Chandigarh (2) Delhi (3) Aizawl (4) Puducherry 

(2) ~ (3)~ (4) ~ 

(27 ) P.T.o. 
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129. The highest water fall of India Gog) is located in the State of .................... . 

(1) Kamataka (2) Tamilnadu (3) Maharashtra (4) Uttarakhand 

'11«1 'liT ,,"\I>lq; ~ '*""41<1 (oiI<r) .................... ~ ij ftom ~ I 

(1) 'IH\"", (2) <1f11<"1'llji (3) eml'\; (4) ~'1<I"",,g 

130. Which one of the following organisation was replaced by the World Trade 
Organisation (WTO) ? 

(1) UNIDO (2) GATT (3) UNCTAD (4) UNDP 

~ '"'ld'11 ij fllRlq\" '''lR 'l'( fW! "l]qR ~ ("'''''Le131i) q\"t "f"IT'RT q\"t 
'l'ft 7 

(1) ~ (2) it: (3) 3i"<tc!;g 

131. Nagoya industrial region is located in .................... island. 

(1) Honshu (2) Shi Koku (3) Hokkaido (4) Kyushu 

. • 'fl ........ ;::rpWIT 3iltll !¢ .\otG~1 ................ " •• 

(1) ~ (4) 'f'm 

132. Name the scholar who first examined the 'population resource relationship'. 

(1) Gunnar Myrdal 

(3) T. R. Malthus 

(1) :Ff1' ~ 

(3) e10 3lT'fo '!roOm 

(2) W. W. Rostov 

(4) E. W. Zimmerman 

(2) ""'""A "",""a ~ 

(4) .0 "",""a lttuN~'l 

133. National Atlas and Thematic Mapping Organisation (NATMO) 1S located 
In .................... . 

(1) New Delhi 

(3) Hyderabad 

(2) Dehradun 

(4) Kolkata 

~~ ~ '<'i o\1~re", ~ ~) .................... ij ftom ~ I 

(1) ~ ~ (2) ~"",,'l 

(3) tG'IT'lTG (4) ""<"1",,<1, 

(28 ) 
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134. The Asian Drama of Gunnar Myrdal is a study of .................... . 

(1) Economic cooperation in Asia (2) Poverty of nations in Asia 

(3) Status of drama in Asia (4) Political rivalry in Asia 

'J"ffi ii'lGtor q\') gwli ~ffl4";;;W .................... 'liT 3Wl'A % I 
(1) ~ ij ~ ",,;m'l (2) ~fll"l{ tffi ij ~ 

135. Which one of the following is not an igneous rock? 

(1) Basalt (2) Granite (3) Gneiss (4) Gabbro 

f.1", ~ ftl <1 ij <!>'R 3lT"'nl "IllR 'fIff % ? 

(1) ~ (2) ~ (3) ~ (4) 1t;ir 

136. The seven stages of town growth were put forth by .................... . 

(1) Griffith Taylor (2) Jack P. Gibbs 

(3) Lewis Mumford (4) W. R. Thompson 

'f'R ~ qj) mo ~ q;] .................... 6ffi lRWl fil>m Tf'lT I 

(1) fltiit>.r ~ (2) ~ tft 0 fi'roR 

(3) ~ ~ (4) ~o 3lRo ~ 

137. The term (urban) fringe Was first used by .................... in 1937. 

(1) O. D. Duncan 

(3) H. Tisdale 

(2) T. Lynn Smith 

(4) A. N. Clark 

('f'R) i31!Rf 1IT'G 'liT wm 5!W'l orR 1937 ij .................... 6ffi fil>m Tf'lT I 

(1) 3110 <lIo ~ (2) iTo fu<l ~ 

(4) ",,0 \['10 ~ 

138. World Population Day is observed on .................... . 

(1) 21 March (2) 11 July 

(3) 05 June (4) 22 April 

JWq ""Hi"" I ft<ffi .................... q;] >RT<IT unm % I 
(1) 21 1fT<! (2) 11 ~ 

(3) 05 "fl (4) 22 <rlor 
(29 ) P.T.o. 
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139. Which one of the following is not a system of scaling in geography? 

(1) Nominal 

(3) Ordinal 

(1) ~~ 

(3) jf'11 ~ 

(2) Interval 

(4) Continuous 

(2) ai<RJ<;! ~ 

(4)~~ 

140. Which one of the following pairs (revolution - product) is not properly"matched ? 
(1) White - milk (2) Blue - fish 

(3) Brown - thermal power (4) Yellow - oil seeds 

f.I"1~It." T'( <$r "T'l (lI>if<r - ~) '\'l~~" <rd'f't ? 
(1) "ffi! - ~ (2) ~ - 'lm'fr 
(3) ~ - C!T'! ~ (4) lfm - fl1,,;;., 

141. Among the European colonizers who were the first to enter Indian ocean 
realm? 

(1) Portugese (2) British (3) French (4) Italians 

,,<1<1)0 "qf.l~".,) T'( f<IRR ~ m ~ %,<1,'1< q~'l'''''' T'( m ~ 7 

(1) ~t!'",",l (2) file.,",.,", (3) l#i<11<11 (4) ~co1'l",<11 

142. In how many categories urban settlements are classified by the Census of India? 

~ "wi',." &m '"I"'Rl<! ~ q;'I ~ ~ T'( "'fi'1''' ~ = 't 7 

(ij6 m8 ~5 004 

143. Name the scholar who explained the stages of economic growth. 

(1) W. W. Rostov 

(3) Gunnar Myrdal 

(1) ~o ~o -m&<r 

(3) 'J"fR ~ 

(30 ) 

(2) F. Perroux 

(4) A. O. Hirschman 

(2) ","0 iRrffi 

(4) <[0 oilo ~~\~., 



144. The point of origin of an earthquake is calied .................... . 

(1) Epicentre 

(3) Seismic focus 

(2) Quake centre 

(4) Tectonic centre 

~ <f; ~ ~ q;) .................... %1;;;mIT tl 
(1) ~ ~ (2) 'Ii"'R ~ 

(3) ~ '!<'I 
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145. The 'zone and strata theory' of evolution of human races was propounded 
by .................... . 

(1) D. N. Majumdar (2) G. Taylor 

(3) Herbert Risley (4) A. L. Kroeber 

'IT'f'! lrOlTf1! <f; l!i'l ~ <f; '",f?;0'U 'f'i mm- 1tr.iiT'<I' <liT "Riql"'1 .................... llffi 
fi!;m '1<!T 1 

(1) ~o 1f'fo '1'1'1"" 

(3)~~ 

(2) <;fio ~ 

(4) 110 ","0 lIl'r<R 

146. \r\nich one of the following is an example of piedmont plateau? 

(1) Tibet (2) Peru (3) Bolivia (4) Paitagonia 

f.'1 .., f{1 f{"" if <fiR RI ~q " t!ON <liT "'" ~,,15, 'I t ? 

(1) fltoom (2) ~ (3) 0101~~''' 

147. Which one of the following rivers changes its course most frequently? 

(1) Ganga (2) Kosi (3) Mahanadi (4) Tapti 

f.'1..,f{1f{"" ~ if <fiR OlX1'lN 3lQ'IT llT'f q~qRl" 'fR<!\ t ? 

(1) ;f>rr (2) ~ (3) '101'1<fi (4) <!Nl\ 

148. International map projection is a modified version of .................... projection. 

(1) Mollweide's (2) Bonne's 

(3) Polyconic (4) Cylindrical 

",,,,,I'\;~,, '11'1f<1~ lla)q .................... lla)q <liT ",ql"'~" ~ ~ 1 

(1) '11«<11", (2) oR 

(3) OS';""I"''' (4) ~«'11"''' 

(31 ) P.T.O. 
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149. First Earth Summit was held in 1992 in .................... . 

(1) Nairobi (2) Istambul 

(3) Stockholm (4) Rio de Janeiro 

w>ll! ~ ",Hi",'1 1992 B .................... B 31I<i1~t1 fil;<rr 'l<lT I 

(1) ~ (2) _''''1,'' 
(3) 'RI"'"l'1 (4) ~ <l\ ~ 

150. International Rice Research Institute is located in ............... . 

(1) Manila (2) Rome 

(3) Mexico City (4) Hyderabad 

31""\'1;1'1 'lA ~ ~ .................... B ftom ~ I 
(1) If'fi<;"r (2) W! 

(4) ~''''.''G 

(32 ) 



3T~ <f; ~ f.'li(~1 

~ ~ <f> """ 3If'RUl-'1'" 'R <!'IT 'lm-'fjf <f> m ')"ll 'R .,'q-", "4to/tlllmifl Wc<-~ tR-fr 111 Il1d) 

i. \Wf g~ 'PI fi'wR * 10 ,flRc * OR'{ 111 -0l <'r f<n ~'" q~ >i 'fl'it '!'" ~ ~ 3lR ~ 
\Wf '!P 'It'f ~ I g~ <I" ,,1 "'1m ~ UlR 'R ~ ~ ,li""'" 'Pal f.'R1ef11i 'lit <t<R 
~ ~,,,q~ ~ ~ g~"'1 = "" <'r I 

2. '1i\en 'f<R >i ~"'''' W'ta J/W:rp;;( <it ",rfifttif.R1aiffln. ~ 'IT milT ~ oj] '[<ill 'IiT'TUl wo.r >i 
'1 en<ll 

3. \ftR-q?f 3lWT ,'t R'lT 'l'lT ~ I .,t '" '* >M anv '" lit fil<pa <tff I 'ifflT rm'I"- rp;;( "flIT 
~ .""p" I <ito.r rm'I"- rp;;( 'Iff lit 'l,Rii'l!'1 fiIRIr .""p" I 

4. 3!1RT "'jiIi'fiq; "err rm'I"-rp;;( 'Iff 'W>tfq; Jr2[1famWur- '['ff Iff tR ff f.'ltrtfu! '''lR 'R 

fWitl 
5. rm'I"-rp;;( <it Jr2[1f '['ff Iff ~ ff 3IfRf3tjili'fl"¢ filE/fRd <err"f Iff f&N "err 4lW fW ~ 

oft 7JT'1T 'IR ~ I iiffff - iiffff "".''Iq; o'i ".., JWr-!)fffiq;1 'Iff W>tfq; ffI!fT We 'Iff ""'" 

'iIfWr fflRl' Iff fW<i I , 

6. 3Tr0 'f'!o <lffio q?f 'R 311>1511;'" 'Ii=, \Wf-g~"'I'Ii= q -frc: 'Ii= ('lfl: ~ lIT) '(I'lT 

\Wf-g~"'1 'R 311>1511;'" 'Ii= 3lR 3Tro 'f'!0 <lffio q?f 'Ii= ~ ~fliFtcI:i\ >i ~qR&I",,, ~ 

3Ij'lfcr 'It'f ~ I 
7. ~ q 1"" ~ fli Ftc" 1 >i ~ oj] q R" t! " '<1>81 f.'R1ef1Ii &RT ~ 111 fill t1 l!Rr 'iITf%ir 3Rl'lT 'll' "" 

3IjRm <ll"R 'liT wWr 'lRT ~ I 

8. \Wf g~"'1 >i lR"r<t> \Wf * _ a",f?1", \ftR ~ '1'1 ~ I JR'll"ip JWr <it 4q;~q; rm'I" <it 
fWt 31I'f1it rm'I"-rp;;( oft W"'~d ~ <it ~,fW 7fiI rn oft rm'I"-rp;;( <it Jr2[1f '['ff IN 

fW 7fiI f'nfu'f <t ""JW< ~ ff 7JT'1T 'IR'IT ~ I 

9. """" \Wf * = <li ~ $lM "'" i'> ~ -0; W<>J <R I "'" 'it, ~ '[fff "* 'l7'" ""oj 

'R 31'-f'lT "" '{'tI 'lit ~ 'l<"t 'R 'll' \ftR 'l<'ftl 'lRT ~ I 
10. "'IT"! ~, fi5 T{'Ii '"" 'RITift llffl aifiIm rm'I"......,.,- "flIT OfT WififfT ~ I 'lfl: 3IJq ~ \Wf 

'liT rm'I" "flIT ~ ~ 'd. ill ~ tifil<r <if ~ ~ '1'1 'fl'it '[til 'lit ~ uT<; it I 
~ >rfif 'R "J:'l 3iq; ~ ~ I 

11. 'I'li q;nj * fRil '" g~"'1 * :J"'~" * <liG<' i'ffi'fT 'l'" <I'll aiFcm ~ 'l'" 'liT wWr 
'lR1 

12. ~ * ~qxl'\1 JWr-!l(fflq;1 V'i rm'I"-rp;;( ~ 'f<R >i UIllT "" it I 
13. ~ 'WlK! Nil -fr ~ '1i\8lT 'f<R -fr 'iTTO< UlR ~ 3Ij'lfcr 'It'f 6'rf\ I 
14. 'lfl: ~ 3I"l!o\T ~ >i 3IjRm ~ 'liT wWr <t><tlT t ill 'll' fli,,,fliw,,,'l &RT f.'ltrtfu! 

<i<; 'liT / ~ 'll'lT ..wrr / 6'rf\ I 


